I%nﬂn =

5 5
B =
IEL RPFREBEERIELSE
T=E50T TETARATBIELS
==X iy =~ HER a5t
ITE%& n -
ERSEIE 1.0 =
TEHE
BBIAR
EHICLY ., R2HE - WEERS TARESVNELCERESUEL. FHEED
Fo TR
et  AEUEZERT 5720 o

THE™  IEEBURE




LR ZEEH5
4= I e B #HE ==K S48 HE ==K S48 k=3
. FE 3D

A EEISH = 1.0 FEE: EE
B HBREE (X%9) =% 1.0

MIES
C REEEE = 1.0
Al | REMLHE =% 1.0

THRM
D —REEE = 1.0

==t iy
E EBR % 10.0

ITE%& (&5




LAERE EERE

It e B | #HE E Gt HE Hfff Gt (e
BEIEE
REIE = 1.0
BWEI=HE = 1.0
ERTH = 1.0
BIE = 1.0
Bk T = 1.0

NET

W




CRES TE R

It B B #HE ==k B HE ==K B (e
REIE
CEURRERES W=900

SEER S B m2  1,715.0
EiRE5 KF m 2 502.0
Foy MREBE Y — FRY BH% 11 48 m2 | 1,715.0
IRER M B EREH m 2 502.0
IRER M B > — 48 m2 | 1,715.0
BE m2 | 1,920.0
BEFHRERAT m2 | 1,920.0




LHIERE EERET

It B B #HE ==k B HE ==K B (e

BWEI=E
J-BRIK

BERRBA KB R E AERR m 2 11.0
BRERTIIR 2 &R m 50.3
NV & m 50.3
e m 19.6
NDZ N7 4 Gl 1.0
B L FEMEA m 3 0.4
B L R4 ER m 3 0.4

INET

W




LAERE EERE
== I meE By HE Hiff Eatic] e E A S e
3 EBRI=ZE

(RAEBIRIE)
BRAEIFEHT-45

(kB T3 HNhT— t=05 m2 | 1,816.0
TJLTAIN—=T 47 t=10 RFEEE m2 | 1,816.0
IATLURE b (W 99797 #) Ferat VATV 74-h t 95(FS)
HEREERRE R AEE (hyh3) THI-M5 m2 | 1,816.0
BARERA T# (LBY) GLAEHIt=2.3 % 40 * 35@600 m | 3,018.0
EAREA T (hypY1) GLAHIt=2.3 m 32.8
EAREA T (hypRY2) GLAHIt=2.3 m 32.8
EAREA T (hypRY3) GLAHIt=2.3 m 32.8
BN 99797 81 (BZEESD)  FaF UAFLy74-ht 95~ t 01 S) m 39.9
Bfe8 (BIFEREICEAT) @600 12120 & | 7,544.0
EE LR Y] BN h3-1 0.5 AtkEey7 3t m 32.8
77238 (R) B h3-1 0.5 m 112.0
@) LAk GLAEHIt=1.6 m 112.0
BEEE (BH) B p5-1 0.5 AbdEEey7 3 m 43.0
#HEEE (R) BN h3- 0.5 AedERry7 3 m 22.8
B L@ TH (R) GLAHt=1.6 m 22.8
FHEEMR B p7-1 0.5 H210 m 32.8

W




ERIE & ZEHRET

T7#& me B #HE =<0 £%8 B M £%8 e
LY o GLAEHIt=16 m 32.8
L - 57 ER (R 2 h5- 1 0.5 m 46.0
[@ stk GLAEHIt=16 m 46.0
R EHEI—F— B h7-1 0.5 m 3.7
FEABI—F— B H7-10.5 m 0.9
BEFI/4Y A LB ARG
BT BN 7= 0.5 EL 2.0
EArN B in e EEAR 2N B3t 0.5 &Nz 2.0
A £ T b un LIt=10 ik EFT 2.0
BEfFARBEREE GLAEHIt=16 m 32.8
SAFREREE —F (N 99797 #) FEF JAFLy74-h t 55 )
HEMEE R AT (h7h&) 7H3y-M5 m 328
BEFEAMEEE (dbm) GLE#t=1.6 m 33.0
SAFREREE —F (N 99797 #) FaF JAFLy 74—k t 55 )
HEMEE R AT (h7h&) 7H3y-M5 m 33.0
PE e = 1.0
2R IR k= = 1.0
s E = 1.0

IINET

BE:))




CRES EBRE
4= T7#& me By  HE A £ HE M S k=3
4 MIZE
\ 747/ 8= 200W
8 244 1 SUSEL@600 m 65.8
74778 = 200W
vl
WF 74T B E200W 1& 9.0
Y TAT/ B = 200W 1& 4.0
WeR Y (REBEREMT) &l 25.0
“LOA IBEBERL Y ¢150 e 7.0
\ $H5—VP$150
EUE EaaY : SUSEL@1200 m 37.2
$h 5 —VP $ 150
fBiE® T @10m & 3.0
"F $Z—VP ¢ 150 1& 6.0
\ $H5—VP$150
e B SUSH m 6.0
IF 1@ 12.0

NG

W




LERE BERE
%H TiE e H #HE =<1 £%8 HE ==L i S | ==
5 |BsKI=E
= EEE 10~15MPa m 2 116.0
i
TR C-2 m 2 5.2
iyl =]
T C-2 m 2 12.8
X-2T3&
7 L&y REERK i m 2 5.2
X-2T3&
By — FBAK t=15 S-M2Ik m 2 98.3
By — FBAK t=15 S-F2I% m 2 11.0
BHKIR X 9 T3 m 50.3
1 CREHR FLP-4 W50 m 50.3
ZERyYI-vF% (MS-2)
5)5*&%3’5“/—'}‘/7 10*10 m 62.2
$75
EhadE kL >~ AbL-3-3t ;i 1.0

NG

W




FEEHIAL

7 EIBE EHEHRE

N
&

I B2 Hf | HKE L] T BE E Eacdl wE

FEMULDE B

B77 m3 0.40 0.35t/m3

NEE

G

FEMUDE




